Connecticut Curriculum Design Unit Planning Organizer

Grade 3 Mathematics

 Unit 3 - Computing with Whole Numbers

Pacing: 4 weeks (plus 1 week for reteaching/enrichment)

	Mathematical Practices 

	Mathematical Practices #1 and #3 describe a classroom environment that encourages thinking mathematically and are critical for quality teaching and learning.

Practices in bold are to be emphasized in the unit.
1. Make sense of problems and persevere in solving them.

2. Reason abstractly and quantitatively.

3. Construct viable arguments and critique the reasoning of others.

4. Model with mathematics.

5. Use appropriate tools strategically.

6. Attend to precision.

7. Look for and make use of structure.

8. Look for and express regularity in repeated reasoning.



	Domain and Standards Overview

	Operations and algebraic thinking

· Represent and solve problems involving multiplication and division.
· Understand properties of multiplication and the relationship between multiplication and division.
· Multiply and divide within 100.
· Solve problems involving the four operations, and identify and explain patterns in arithmetic.
Number and Operations in Base Ten

· Use place value understanding and properties of operations to perform multi-digit arithmetic.



	Priority and Supporting CCSS
	Explanations and Examples*

	3.NBT.2. Fluently add and subtract within 1000 using strategies and algorithms based on place value, properties of operations, and/or the relationship between addition and subtraction.*

* A range of algorithms may be used. 

	3.NBT.2. Problems should include both vertical and horizontal forms, including opportunities for students to apply the commutative and associative properties. Adding and subtracting fluently refers to knowledge of procedures, knowledge of when and how to use them appropriately, and skill in performing them flexibly, accurately, and efficiently. Students explain their thinking and show their work by using strategies and algorithms, and verify that their answer is reasonable. An interactive whiteboard or document camera may be used to show and share student thinking.
Example: 

• Mary read 573 pages during her summer reading challenge. She was only required to read 399 pages. How many extra pages did Mary read beyond the challenge requirements? 

Students may use several approaches to solve the problem including the traditional algorithm. Examples of other methods students may use are listed below: 

• 399 + 1 = 400, 400 + 100 = 500, 500 + 73 = 573, therefore 1+ 100 + 73 = 174 pages (Adding up strategy) 

• 400 + 100 is 500; 500 + 73 is 573; 100 + 73 is 173 plus 1 (for 399, not 400) is 174 (Compensating strategy) 

• Take away 73 from 573 to get to 500, take away 100 to get to 400, and take away 1 to get to 399. Then 73 +100 + 1 = 174 (Subtracting to count down strategy) 

• 399 + 1 is 400, 500 (that’s 100 more). 510, 520, 530, 540, 550, 560, 570, (that’s 70 more), 571, 572, 573 (that’s 3 more) so the total is 1+100+70+3 = 174 (Adding by tens or hundreds strategy) 

	3.NBT.1. Use place value understanding to round whole numbers to the nearest 10 or 100.

	3.NBT.1. Students learn when and why to round numbers. They identify possible answers and halfway points. Then they narrow where the given number falls between the possible answers and halfway points. They also understand that by convention if a number is exactly at the halfway point of the two possible answers, the number is rounded up. 
Example: Round 178 to the nearest 10. 
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                                                                                   Step 1: The answer is either 170 or 180.

                                                                           Step 2:  The halfway point is 175.






    Step 3:  178 is between 175 and 180.






    Step 4:  Therefore, the rounded number





                  is 180.



	3.OA.7. Fluently multiply and divide within 100, using strategies such as the relationship between multiplication and division (e.g., knowing that 8 × 5 = 40, one knows 40 ÷ 5 = 8) or properties of operations.  By the end of Grade 3, know from memory all products of two one-digit numbers.
	3.OA.7.  By studying patterns and relationships in multiplication facts and relating multiplication and division, students build a foundation for fluency with multiplication and division facts. Students demonstrate fluency with multiplication facts through 10 and the related division facts. Multiplying and dividing fluently refers to knowledge of procedures, knowledge of when and how to use them appropriately, and skill in performing them flexibly, accurately, and efficiently.
Continued on next page

3.OA.7 Continued

Strategies students may use to attain fluency include: 

• Multiplication by zeros and ones 

• Doubles (2s facts), Doubling twice (4s), Doubling three times (8s) 

• Tens facts (relating to place value, 5 x 10 is 5 tens or 50) 

• Five facts (half of tens) 

• Skip counting (counting groups of __ and knowing how many groups have been counted) 

• Square numbers (ex: 3 x 3) 

• Nines (10 groups less one group, e.g., 9 x 3 is 10 groups of 3 minus one group of 3) 

• Decomposing into known facts (6 x 7 is 6 x 6 plus one more group of 6) 

• Turn-around facts (Commutative Property) 

• Fact families (Ex: 6 x 4 = 24; 24 ÷ 6 = 4; 24 ÷ 4 = 6; 4 x 6 = 24) 

• Missing factors

	3.OA.9  Identify arithmetic patterns (including patterns in the addition table or multiplication table), and explain them using properties of operations. For example, observe that 4 times a number is always even, and explain why 4 times a number can be decomposed into two equal addends.

	3.OA.9. Students need ample opportunities to observe and identify important numerical patterns related to operations. They should build on their previous experiences with properties related to addition and subtraction. Students investigate addition and multiplication tables in search of patterns and explain why these patterns make sense mathematically. For example: 

• Any sum of two even numbers is even. 

• Any sum of two odd numbers is even. 

• Any sum of an even number and an odd number is odd. 

• The multiples of 4, 6, 8, and 10 are all even because they can all be decomposed into two equal groups. 

• The doubles (2 addends the same) in an addition table fall on a diagonal while the doubles (multiples of 2) in a multiplication table fall on horizontal and vertical lines. 
Continued on next page

3.OA.9. Continued

• The multiples of any number fall on a horizontal and a vertical line due to the commutative property. 

• All the multiples of 5 end in a 0 or 5 while all the multiples of 10 end with 0. Every other multiple of 5 is a multiple of 10. 

Students also investigate a hundreds chart in search of addition and subtraction patterns. They record and organize all the different possible sums of a number and explain why the pattern makes sense.



	3.NBT.3. Multiply one-digit whole numbers by multiples of 10 in the range 10–90 (e.g., 9 
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 80, 5 
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 60) using strategies based on place value and properties of operations. *

* A range of algorithms may be used.


	3.NBT.3. Students use base ten blocks, diagrams, or hundreds charts to multiply one-digit numbers by multiples of 10 from 10-90. They apply their understanding of multiplication and the meaning of the multiples of 10. For example, 30 is 3 tens and 70 is 7 tens. They can interpret 2 x 40 as 2 groups of 4 tens or 8 groups of ten. They understand that 5 x 60 is 5 groups of 6 tens or 30 tens and know that 30 tens is 300. After developing this understanding they begin to recognize the patterns in multiplying by multiples of 10. 

Students may use manipulatives, drawings, document camera, or interactive whiteboard to demonstrate their understanding.

	3.OA.8 Solve two-step word problems using the four operations. Represent these problems using equations with a letter standing for the unknown quantity. Assess the reasonableness of answers using mental computation and estimation strategies including rounding.3
3 This standard is limited to problems posed with whole numbers and having whole-number answers; students should know how to perform operations in the conventional order when there are no parentheses to specify a particular order (Order of Operations). 


	3.OA.8. Students should be exposed to multiple problem-solving strategies (using any combination of words, numbers, diagrams, physical objects or symbols) and be able to choose which ones to use. 

Continued on next page
3.OA.8. Continued

Examples: 
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• Jerry earned 231 points at school last week. This week he earned 79 points. If he uses 60 points to earn free time on a computer, how many points will he have left? 

A student may use the number line above to describe his/her thinking, “231 + 9 = 240 so now I need to add 70 more. 240, 250 (10 more), 260 (20 more), 270, 280, 290, 300, 310 (70 more). Now I need to count back 60. 310, 300 (back 10), 290 (back 20), 280, 270, 260, 250 (back 60).” 
A student writes the equation, 231 + 79 – 60 = m and uses rounding (230 + 80 – 60) to estimate. 

A student writes the equation, 231 + 79 – 60 = m and calculates 79 – 60  = 19 and then calculates 231 + 19 = m.
Continued on next page
3.OA.8. Continued

• The soccer club is going on a trip to the water park. The cost of attending the trip is $63. Included in that price is $13 for lunch and the cost of 2 wristbands, one for the morning and one for the afternoon. Write an equation representing the cost of the field trip and determine the price of one wristband. 

w

w

13

63

The above diagram helps the student write the equation, w + w + 13 = 63. Using the diagram, a student might think, “I know that the two wristbands cost $50 ($63-$13) so one wristband costs $25.” To check for reasonableness, a student might use front end estimation and say 60-10 = 50 and 50 ÷ 2 = 25. 

When students solve word problems, they use various estimation skills which include identifying when estimation is appropriate, determining the level of accuracy needed, selecting the appropriate method of estimation, and verifying solutions or determining the reasonableness of solutions. 

Estimation strategies include, but are not limited to: 

• using benchmark numbers that are easy to compute 

• front-end estimation with adjusting (using the highest place value and estimating from the front end making adjustments to the estimate by taking into account the remaining amounts) 

• rounding and adjusting (students round down or round up and then adjust their estimate depending on how much the rounding changed the original values)


	Concepts

What Students Need to Know
	Skills

What Students Need To Be Able To Do
	Bloom’s Taxonomy Levels

	Whole Numbers

Word Problems

Reasonableness of answers

Products

Arithmetic Patterns
	ADD (fluently within 1000 using strategies and algorithms based on place value, properties and/or relationship between addition and subtraction)

SUBTRACT (fluently within 1000 using strategies and algorithms based on place value, properties and/or relationship between addition and subtraction)

ROUND (to nearest 10 or 100 using place value understanding)

MULTIPLY AND DIVIDE fluently within 100

USE strategies such as the relationship between multiplication and division 
KNOW from memory all products of two one-digit numbers

MULTIPLY (fluently (one-digit by multiples of 10 in the range of 10-90 using place value strategies and properties of operations)

SOLVE (two-step using the four operations)

REPRESENT (using equations with letter standing for unknown)

ASSESS (using mental computation and estimations strategies including rounding)

MULTIPLY (fluently within 100 using strategies)

DIVIDE (fluently within 100 using strategies)

KNOW (of two one-digit numbers)

IDENTIFY (including patterns in the addition or multiplication tables)

EXPLAIN (using properties of operations)
	3

3

3

1

3

3

3

4

3

3

1

2

4


	Essential Questions 



	


	Corresponding Big Ideas

	


	Standardized Assessment Correlations

(State, College and Career)

	Expectations for Learning (in development) 
This information will be included as it is developed at the national level. CT is a governing member of the Smarter Balanced Assessment Consortium (SBAC) and has input into the development of the assessment. 


	Tasks from Inside Mathematics (http://insidemathematics.org/index.php/mathematical-content-standards)

These tasks can be used during the course of instruction when deemed appropriate by the teacher.

NOTE: Most of these tasks have a section for teacher reflection.

	TASKS—

Adding Numbers - Good to use as instructional activity with discussion around strategies and properties of operations
The Baker


	Unit Assessments

The items developed for this section can be used during the course of instruction when deemed appropriate by the teacher.

	NOTE: Multiplication and division facts are not included in the unit assessments but should be included in classroom assessment.

1. What is 28 rounded to the nearest ten? Show or explain how you found your answer using the number line.

[image: image3.emf]
Answer: 30. Student locates 28 on the number line and shows or explains that 28 is closer to 30 than 20, or is more than halfway between 20 and 30 and is therefore closer to 30.
Partial Credit: Correct answer 30, with an incorrect or missing explanation, OR an incorrect answer with an explanation that demonstrates understanding that 28 is closer to 30 than 20 on the number line.

No Credit: Incorrect answer with an incorrect or missing explanation.


	2. What is 574 rounded to the nearest hundred? Show or explain your answer using the number line.
[image: image4.emf]
Answer: 600.  Student locates the approximate location of 574 on the number line and shows or explains that 574 is closer to 600 than 500, or is more than halfway between 500 and 600 and is therefore closer to 600.
Partial Credit: Correct answer 600, with an incorrect or missing explanation, OR an incorrect answer with an explanation that demonstrates understanding that 574 is closer to 600 than 500 on the number line.

No Credit: Incorrect answer with an incorrect or missing explanation.

	3. What is 91 rounded to the nearest ten? Show or explain how you found your answer.
Answer: 90. Student uses a number line or another model to show or explain that 91 is closer to 90 than 100, or is less than halfway between 90 and 100 and is therefore closer to 90.

Partial Credit: Correct answer 90, with an incorrect or missing explanation, OR an incorrect answer with an explanation that demonstrates understanding that 91 is closer to 90 than 100 on the number line.

No Credit: Incorrect answer with an incorrect or missing explanation.



	4. [image: image9.emf]What is 773 rounded to the nearest ten? Show or explain your answer using the number line.
Answer: 770. Student locates 773 on the number line and shows or explains that 773 is closer to 770 than 780, or is less than halfway between 770 and 780 and is therefore closer to 770.

Partial Credit: Correct answer 770, with an incorrect or missing explanation, OR an incorrect answer with an explanation that demonstrates understanding that 773 is closer to 770 than 780 on the number line.

No Credit: Incorrect answer with an incorrect or missing explanation.

	5. What is 45 rounded to the nearest ten? Show or explain how you found your answer.

Answer: 50. Student shows or explains that 45 is half way between 40 and 50 and understands that by convention, it is rounded up to the next ten.

Partial Credit: Correct answer 50 with an incorrect or missing explanation, OR an incorrect answer with an explanation that demonstrates understanding that 45 is halfway between 40 and 50 and by convention is rounded to 50.

No Credit: Incorrect answer with an incorrect or missing explanation.

	6. What is 650 rounded to the nearest hundred? Show or explain how you found your answer.

Answer: 700. Student shows or explains that 650 is half way between 600 and 700 and understands that by convention, it is rounded up to the next hundred.

Partial Credit: Correct answer 700 with an incorrect or missing explanation, OR an incorrect answer with an explanation that demonstrates understanding that 650 is halfway between 600 and 700 and by convention is rounded to 700.

No Credit: Incorrect answer with an incorrect or missing explanation.

	7. Solve this problem. Show or explain how you found your answer.



     527



  -  284

Answer: 243. Students explain their thinking and show their work by using strategies and algorithms. For example:

· 284 + 16 = 300, 300 + 200 = 500, 500 + 27 = 527, therefore 16 + 200 + 27 = 243 (Adding up strategy) 

· 300 + 200 is 500; 500 + 27 is 527; 200 + 27 is 227 plus 16 (for 284, not 300) is 243 (Compensating strategy) 

· Take away 27 from 527 to get to 500, take away 200 to get to 300, and take away 16 to get to 284. Then 27 +200 + 16 = 243 (Subtracting to count down strategy) 
· 284 + 16 is 300. Count by 100s 400, 500 (that’s 200 more). Count by tens, 510, 520, (that’s 20 more), 521, 522, 523, 524, 525, 526, 527 (that’s 7 more) so the total is 16 + 200 + 20 + 7 = 243 (Adding by tens or hundreds strategy)
· Rename 527 to 4 hundreds, 12 tens and 7 ones and subtract 2 hundreds, 8 tens and 4 ones (Standard algorithm)

Partial Credit: Correct answer 243 with an incorrect or missing explanation, OR an incorrect answer with an explanation that would result in the correct answer 243.

No Credit: Incorrect answer with an incorrect or missing explanation.

NOTE: To raise the ceiling on this item, or to ensure that students are able to use multiple methods, ask students to show how to find the answer two different ways.


	8. Solve this problem. Show or explain how you found your answer.


   326



+ 416

Answer 742. Students explain their thinking and show their work by using strategies and algorithms. For example:

· 300 + 400 = 700, 20 + 10 = 30, 6 + 6 = 12, therefore 700 + 30 + 12 = 742 (Adding by place values strategy)
· 326 + 420 = 746, 746 – 4 = 742 (Compensating strategy)

Partial Credit: Correct answer 243 with an incorrect or missing explanation, OR an incorrect answer with an explanation that would result in the correct answer 243.

No Credit: Incorrect answer with an incorrect or missing explanation.

NOTE: To raise the ceiling on this item, or to ensure that students are able to use multiple methods, ask students to show how to find the answer two different ways.



	9. Which expression means the same as 60 + 180 + 40?
A. 100 + 180*
B. 18 + 10
C. 60 + 1840
D. 780 + 40


	10. What number is missing in the number sentence?

                             139 + ( = 436

Answer: 297

	11. What number is missing in the number sentence?

                  ( - 459 = 286
Answer: 745

	12. Which expression has the same value as 485 + 215?
A. 400 + 200 + 100*
B. 400 + 200 + 90
C. 400 + 200 + 15
D. 400 + 200 + 10


	13. On Monday, 507 students bought lunch from the cafeteria. Another 249 children brought their own lunches from home.  How many more children bought lunch from the cafeteria than brought their lunches from home? Show or explain how you found your answer.
Answer: 258 students. Student showed or explained how they found the answer by subtracting 249 from 507.
Partial Credit: Correct answer 258 with an incorrect or missing explanation, OR an incorrect answer with an explanation that would result in the correct answer 258.

No Credit: Incorrect answer with an incorrect or missing explanation.
NOTE: To raise the ceiling on this item, or to ensure that students are able to use multiple methods, ask students to show how to find the answer two different ways.



	14. Tim had 573 baseball cards in his collection.  For his birthday, his friends gave him some more.  Now Tim has 802 baseball cards.  How many cards did his friends give him? Show or explain how you found your answer.
Answer: 229 baseball cards. Student shows or explains how they found the answer by subtracting 573 from 802.

Partial Credit: Correct answer 229 with an incorrect or missing explanation, OR an incorrect answer with an explanation that would result in the correct answer 229.

No Credit: Incorrect answer with an incorrect or missing explanation.

NOTE: To raise the ceiling on this item, or to ensure that students are able to use multiple methods, ask students to show how to find the answer two different ways.



	15. Sharon read 835 pages during her summer reading challenge.  She was only required to read 492 pages.  How many extra pages did Sharon read beyond the challenge requirements? Show or explain how you found your answer.

Answer: 343 pages. Student shows or explains how they found the answer by subtracting 492 from 835.

Partial Credit: Correct answer 343 with an incorrect or missing explanation, OR an incorrect answer with an explanation that would result in the correct answer 343.

No Credit: Incorrect answer with an incorrect or missing explanation.

NOTE: To raise the ceiling on this item, or to ensure that students are able to use multiple methods, ask students to show how to find the answer two different ways.



	16. On Monday, Jan picked 137 apples to be sold at the orchard.  On Tuesday, she picked 284 apples. How many apples did Jan pick during both days? Show or explain how you found your answer.
Answer: 421 apples. Student shows or explains how they found the answer by adding 137 and 284..

Partial Credit: Correct answer 421 with an incorrect or missing explanation, OR an incorrect answer with an explanation that would result in the correct answer 421.

No Credit: Incorrect answer with an incorrect or missing explanation.

NOTE: To raise the ceiling on this item, or to ensure that students are able to use multiple methods, ask students to show how to find the answer two different ways.



	17. What number is missing in the number sentence? Show or explain how you found your answer.
                  385 - ( = 292

Answer 93. Student shows or explains how to find the answer using strategies and algorithms.
Partial Credit: Correct answer 93 with an incorrect or missing explanation, OR an incorrect answer with an explanation that would result in the correct answer 93.

No Credit: Incorrect answer with an incorrect or missing explanation.



	18. Will the sum of two even addends always be even or odd?  Show or explain how you found your answer. 
Answer: Even. Student shows or explains that the sum of two even addends will always be even.

Partial Credit: Correct answer even, with an incorrect or missing explanation, OR an incorrect answer with an explanation that demonstrates understanding that the sum of two even addends is always even.

No Credit: Incorrect answer with an incorrect or missing explanation.



	19. Jason is counting by fives.  He started at the number 17.  Will he say the number 70?  Show or explain how you found your answer.

· Answer: No. The explanation could include:
·  If Jason started counting by fives with a multiple of 5 (a number that ended with 0 or 5), then he would say the number 70 because multiples of 5 always end in 0 or 5, but starting with 17 he wouldn’t say the number 70, OR
· If Jason counted by fives and started with 17, which is 2 more than 15, he would say the number 72 which is 2 more than 70 .
· If Jason counted by fives and started at 17, he would say the numbers 67 and 72 and not 70.
Partial Credit: Correct answer no with an incorrect or missing explanation, OR an incorrect answer with an explanation that demonstrates understanding that Jason would not say 70 when counting by multiples of five starting with 17.
No Credit: Incorrect answer with an incorrect or missing explanation.

	20. There are 2 chairs in the first row, 3 chairs in the second row, 5 chairs in the third row, 8 chairs in the fourth row, and 12 chairs in the fifth row.  How many chairs will there be in the eighth row? Show or explain how you found your answer.

Answer: 30. Student explains that the pattern is “add 1, and then add 2, 3, 4, 5, 6, and 7. Start with 2. Add 2 + 1 = 3, 3 + 2 = 5, 5 + 3 = 8, 8 + 4 = 12, 12 + 5 = 17, 17 + 6 = 23, 23 + 7 = 30.
Partial Credit: Correct answer with an incorrect or missing explanation, OR an incorrect answer with a correct explanation.

No Credit: Incorrect answer with and incorrect or missing explanation.



	Students will need a hundreds chart for this question. 
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Source: http://thinkmath.edc.org/index.php/Hundreds_chart
21. Circle all of the numbers on the hundreds chart that have the same number in the tens and ones places, 11, 22, 33, 44, 55… Explain why these numbers fall on a diagonal line on the chart.
Answer: Student circles all of the multiples of 11 from 11 to 99 and explains that the numbers fall on a diagonal line because they increase by 11. Increasing by 10 results in numbers in a vertical line. Increasing by 11 makes the next number shift one more place to the right, resulting in a diagonal line.

Partial Credit: Student circles all multiples of 11 with an incorrect or missing explanation, OR does not circle all the repeating-digit number with an explanation that demonstrates understanding that the numbers increase by 11.
No Credit: Student does not circle all doubles numbers with an incorrect or missing explanation.


	22. Jack had some money.  He spent $15 on a book and $20 on a shirt.  He had $38 left.  How much money did he start with? Show or explain how you found your answer.

Answer: $73. Student explains the answer using any combination of words, numbers, diagrams, physical objects or symbols. For example:

· Jack spent $15 + $20 = $35.  ⁬ - $35 = $38. I added $35 + $38 to find the amount of money he started with, OR
         [image: image6.emf]
Partial Credit: Correct answer with an incorrect or missing explanation, OR an incorrect answer with a correct explanation.

No Credit: Incorrect answer with and incorrect or missing explanation.

	23. Dan had 253 cards in his baseball card collection.  His mom bought him 102 more cards.  Then he gave 45 cards to his friend.  About how many baseball cards does Dan have now?  Show or explain how you found your answer.
Answer: About 300 cards. Student explains the answer using an estimation strategy, for example:

· 253 is about 250, 102 is about 100. 45 is about 50. 250 + 100 = 350. 350 – 50 = 300. (Used benchmark numbers)

·    253                             350
+ 102                           -  45
               300 + 50 = 350           About 300 (Front-end estimation with adjusting)
Partial Credit: Correct answer with an incorrect or missing explanation, OR an incorrect answer with a correct explanation.

No Credit: Incorrect answer with and incorrect or missing explanation.


	24. Eva wants to ride the Ferris wheel, the roller coaster, and the log ride. The Ferris wheel costs 60 tickets, the roller coaster costs 30 tickets and the log ride costs 40 tickets. Eva has 50 tickets. How many more tickets should Eva buy?

Answer: 80 tickets



	25. Anna had 158 coins in her piggy bank. Her brother gave her 234 coins. Then Anna gave 126 of the coins to her friend Pete. How many coins does Anna have left?

Answer: 266 coins

	26. Gavin walked 123 feet from his house to the corner. Then he walked 248 feet from the corner to the store. Later, he came home the same way. How many feet did Gavin walk in all? Show or explain how you found your answer.

Answer: 742 feet. Student explains the answer using any combination of words, numbers, diagrams, physical objects or symbols. 

Partial Credit: Correct answer with an incorrect or missing explanation, OR an incorrect answer with a correct explanation.

No Credit: Incorrect answer with and incorrect or missing explanation.

	27. Jacob spent 360 minutes raking, mowing his lawn and planting flowers. He spent 110 minutes raking and 70 minutes mowing the lawn.         How many minutes did he spend planting flowers? Show or explain how you found your answer.

Answer: 180 minutes.  Student explains the answer using any combination of words, numbers, diagrams, physical objects or symbols. 

Partial Credit: Correct answer with an incorrect or missing explanation, OR an incorrect answer with a correct explanation.

No Credit: Incorrect answer with and incorrect or missing explanation.



	28. Lyla made 24 cupcakes, and Jack made 12 cupcakes for a party.  They want to put an equal number of cupcakes on two tables.  How many cupcakes will they put on each table? Show or explain how you found your answer.

Answer: 18 cupcakes. Student explains the answer using any combination of words, numbers, diagrams, physical objects or symbols. 

Partial Credit: Correct answer with an incorrect or missing explanation, OR an incorrect answer with a correct explanation.

No Credit: Incorrect answer with and incorrect or missing explanation.



	29.  Solve this problem

                            3 × 70 =    

Show or explain how you found your answer.
Answer: 210. Student explains how to find the answer using strategies based on place value and properties of operations, for example:

· 70 equals 7 tens. 3 groups of 7 tens equal 21 tens. 21 tens = 210

	30. Solve this problem

                            5 × 40 =    

Show or explain how you found your answer.

Answer: 200. Student explains how to find the answer using strategies based on place value and properties of operations, for example:

· 5 groups of 4 tens equals 20 tens. 20 tens = 200

	31. Solve this problem

                            9 × 80 =    

Show or explain how you found your answer.

Answer: 720. Student explains how to find the answer using strategies based on place value and properties of operations, for example:

· 80 equals 8 tens. 9 groups of 8 tens equal 72 tens. 72 tens = 720





9
Adapted from The Leadership and Learning Center “Rigorous Curriculum Design” model.
*Adapted from the Arizona Academic Content Standards.
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